Year: 4 Summer:1 Week: 4 Dictation

Focus: SHUNORNISHSIRARGON

The of the machine was unknown.
They that a had been organised.

It was to keeping a reader’s

The track allowed the cyclist to ride faster.

Each bike tyre must be inflated to the correct
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It is raining today, break will be inside.
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Year: 4 Summer:1 Week: 4 Dictation (ANSWERS)

Focus: SHUNORNISHSIRARGON

The purpose of the peculiar machine was unknown.
They heard that a surprise had been organised.
It was important to consider keeping a reader’s interest.
The straight track allowed the cyclist to ride faster.
Each bike tyre must be inflated to the correct pressure.

It is raining today, therefore break will be inside.
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